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895, 562, 599, 568, 877

What will be the resultant if the second highest
number is divided by 2?

af qerdt wr w2 & Ryrfra fra g A
TRUTTH =T ERTT?

(1) 438.5

(2) 438.6

(3) 483.7

(4) 484.8

(S5) 485.5
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895, 562, 599, 568, 877

If the given numbers are arranged in decreasing
order from left to right then which of the following
will be the fourth from the right?

Fte &1 T8 WEATSAT 1 91U ¥ ST¢ Ued shil H A eerd
foraT SITT at fAferRaa & © ST | =TT i |91 ge?
(1) 562

(2) 895

(3) 568

(4) 877

(5) 599
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895, 562, 599, 568, 877

What will be the resultant if the third lowest
number is divided by 2?

Tfe o w=ad Biet @ & 2 ¥ favie forar sie
AT TfuTTH =T B?

(1) 410.5

(2) 299.5

(3) 251

(4) 515.5

(5) 284



IBPS 2024 Practice

<Z @Reasoningbybasantsir

895, 562, 599, 568, 877

What will be the resultant if the second lowest

number is multiplied by 4?

AT TAQ T BT AGAT T 4 ¥ TOT foham Srar & ar
qiROTTH /T ERIT?

(1) 2032

(2) 1982

(3) 1286

(4) 3242

(5) 2272
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Statements:A>I=R2SZT;X<JSH<T
Conclusions:

(HAZ2S

2)A=T

3)H>R

4DR>J

G X>T
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Statements: M>S<T<H,HSB=E>F
Conclusions:

(HDH>T

2Q)H=T

3)F<B

(4) Either (1) or (2)

) M=E
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Statements: T=U,U2Y,YSG,G>L,L>N
Conclusions:

(HUSG

2)G<U

GN=T

@DL=Y

(5) Either (1) or (2)
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Statements: E2 0O, RSO, K=E,H>0,L=FE
Conclusions:

(1) H>R

2) K=R

3)KZ2H

4 L>E

B5)E>K
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Statements: E2 0O, RSO, K=E,H>0,L=FE
Conclusions:

(DLZ2R

2)H=L

B3)H=E

@HKZ2R

(5) Both 1 and 4 are true
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How many such consonants are there in the above
arrangement, each of which is immediately preceded by a
symbol and immediately followed by a letter?

IURIh STSEAT H 0 fohaa sdiwi 8, o8 & ueds & diek uget
Teh Udieh 3T 3k oTE Ueh 378 82

(1) None

(2) One

3) Two

(4) Three

(5) More than three

<Z @Reasoningbybasantsir
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How many such vowels are there in the above arrangement,
each of which is immediately preceded by a symbol and
immediately followed by a consonant?

SR STAEAT H Ul foha = TR &, TS99 & uedieh o 3t uge
Uk Ui Teh 371X 3Teh 9T Ueh 4l &2

(1) None

(2) One

(3) Two

(4) Three

(5) More than three

<Z @Reasoningbybasantsir
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There are seven friends A, B, C, D, E, F and G who leave for
seven different places ie. Delhi, Chennai, Hyderabad,
Bangalore, Kolkata, Chandigarh and Jaipur on different
days of the week starting from Monday. C leaves for Jaipur
on Monday. The one who leaves for Bangalore leaves on the
last day of the week. E leaves one day before G and the next
day after A who goes to Chandigarh. D leaves for Kolkata
on Friday. B leaves neither for Hyderabad nor for

Bangalore and G leaves for Delhi.

A T A, B, C, D, E, F 3TR G & S |Td ST T-2Te1T TATAT o
%qﬁw%%lﬁwnﬁw@ﬁmﬁm%m 3Tt et
ﬁ%ﬂi%ﬁémmmmaﬁiww
Wﬁw%fﬁqmmaﬂm%lsﬁ—qﬁswaaﬁw
AT ST € WHTE o aifeaw 3 Teorm ot 21 E, G 4 U
& uget 31X A & Tt fo Fewerar 2, 5t 9€hve [T 21 D
ITSHA k! ShIcTShTAT ok {10 TT 2IdT 21 B 7 a7 250aTe iR T
F TR % fore Freretar ¥ ot G et 3 forg freremar 21
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There are seven friends A, B, C, D, E, F and G who leave for
seven different places ie. Delhi, Chennai, Hyderabad,
Bangalore, Kolkata, Chandigarh and Jaipur on different
days of the week starting from Monday. C leaves for Jaipur
on Monday. The one who leaves for Bangalore leaves on the
last day of the week. E leaves one day before G and the next
day after A who goes to Chandigarh. D leaves for Kolkata
on Friday. B leaves neither for Hyderabad nor for
Bangalore and G leaves for Delhi.

On which day of the week did B leave?

(1) Sunday

(2) Saturday

(3) Wednesday

(4) Data inadequate

(5) None of these

' @Reasoningbybasantsir
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There are seven friends A, B, C, D, E, F and G who leave for
seven different places ie. Delhi, Chennai, Hyderabad,
Bangalore, Kolkata, Chandigarh and Jaipur on different
days of the week starting from Monday. C leaves for Jaipur
on Monday. The one who leaves for Bangalore leaves on the
last day of the week. E leaves one day before G and the next
day after A who goes to Chandigarh. D leaves for Kolkata
on Friday. B leaves neither for Hyderabad nor for
Bangalore and G leaves for Delhi.

Who left for Bangalore?

() E

2) A

B)F

(4) Data inadequate

(5) None of these

' @Reasoningbybasantsir
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There are seven friends A, B, C, D, E, F and G who leave for
seven different places ie. Delhi, Chennai, Hyderabad,
Bangalore, Kolkata, Chandigarh and Jaipur on different
days of the week starting from Monday. C leaves for Jaipur
on Monday. The one who leaves for Bangalore leaves on the
last day of the week. E leaves one day before G and the next
day after A who goes to Chandigarh. D leaves for Kolkata
on Friday. B leaves neither for Hyderabad nor for
Bangalore and G leaves for Delhi.

On which day of the week does E leave?

(1) Tuesday

(2) Thursday

(3) Sunday

(4) Wednesday

(5) None of these

' @Reasoningbybasantsir
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There are seven friends A, B, C, D, E, F and G who leave for
seven different places ie. Delhi, Chennai, Hyderabad,
Bangalore, Kolkata, Chandigarh and Jaipur on different
days of the week starting from Monday. C leaves for Jaipur
on Monday. The one who leaves for Bangalore leaves on the
last day of the week. E leaves one day before G and the next
day after A who goes to Chandigarh. D leaves for Kolkata
on Friday. B leaves neither for Hyderabad nor for
Bangalore and G leaves for Delhi.

Which of the following combinations of person & place is
correct?

(1) C - Jaipur

(2) A - Chandigarh

(3) E - Hyderabad

(4) F - Bangalore

5) All of these
' @Reasoningbybasantsir )
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There are seven friends A, B, C, D, E, F and G who leave for
seven different places ie. Delhi, Chennai, Hyderabad,
Bangalore, Kolkata, Chandigarh and Jaipur on different
days of the week starting from Monday. C leaves for Jaipur
on Monday. The one who leaves for Bangalore leaves on the
last day of the week. E leaves one day before G and the next
day after A who goes to Chandigarh. D leaves for Kolkata
on Friday. B leaves neither for Hyderabad nor for
Bangalore and G leaves for Delhi.

Who left on Tuesday?

(1) A

2)G

3)B

4)F

(5) None of these

@Reasoningbybasantsir
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Eight persons A, B, C, D, E, F, G and H are sitting around a
circular table but not necessarily in the same order. All of
them are facing centre of the circle. Some of them are also
married. H is sitting third to the left of B who is married. D
is a married person. Two people are sitting between B and
E. E is a neighbour of a married person. D and C are sitting
face to face , out of them only one person is married. D is
sitting only between F and H. G is not married.

AT AR A, B, C, D, E, F, G 31T H Ueh MATRT AT o AT
w%%ﬁ%wqﬁﬁﬁgﬁmﬁﬁlémﬁaﬁ%éﬁsﬁ
R A g1 $TH € D TEHIET 6t 2. H, B % =70 & e

T W a7 & WY frate 21 qu%m%?r—qﬁs% B3 E™
ier 21 safh 3¢ 2 E Ueh faaniea su s st Ugret g1 D 3R C
ITHA-TTH TS ¥, ITH A Hae Uek AT (aTied gl D haot F
3T H o siter 93T 81 G Teranfza =i B
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Eight persons A, B, C, D, E, F, G and H are sitting around a
circular table but not necessarily in the same order. All of
them are facing centre of the circle. Some of them are also
married. H is sitting third to the left of B who is married. D
is a married person. Two people are sitting between B and
E. E is a neighbour of a married person. D and C are sitting
face to face , out of them only one person is married. D is
sitting only between F and H. G is not married.

How many people are married in a group ?

(1) Five

(2) Three

(3) Four

(4) Two

(5) Cannot be determined
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Eight persons A, B, C, D, E, F, G and H are sitting around a
circular table but not necessarily in the same order. All of
them are facing centre of the circle. Some of them are also
married. H is sitting third to the left of B who is married. D
is a married person. Two people are sitting between B and
E. E is a neighbour of a married person. D and C are sitting
face to face , out of them only one person is married. D is
sitting only between F and H. G is not married.

Who is sitting opposite to A?

(1)D

2) C

R)RD

4)B

(5) None of these
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Eight persons A, B, C, D, E, F, G and H are sitting around a
circular table but not necessarily in the same order. All of
them are facing centre of the circle. Some of them are also
married. H is sitting third to the left of B who is married. D
is a married person. Two people are sitting between B and
E. E is a neighbour of a married person. D and C are sitting
face to face , out of them only one person is married. D is
sitting only between F and H. G is not married.

Q.19- If A and B interchange their positions then what

will be the new position of D with respect to B?

(1) Immediate right

(2) Second to the right

(3) Immediate left

(4) Cannot be determined

(5) Either option 1 or 3



IBPS T e 12 friends are sitting in 2 parallel rows containing 6 persons

_ each, in such a way that there is an equal distance between
the adjacent persons. In row-1 P, Q, R, S, T and U all of
them are facing south. In row-2 J, K, L, M, N and O are
facing north. L is not facing S and he is sitting at one of the
ends of the row. U is sitting third to the left of S. The person
facing T is immediate neighbour of M who is not neighbour
of N and does not sit at any end. Only two persons sit
between M and L. P is facing N and sitting at one of the ends
of the row. Only one person sits between R and T. K is an
immediate neighbour of J. S is sitting in front of K. .
12 o1 2 IR ufea | 98 § e 8 U | 6 safh ©, 39
TR foh eTma= st o S eu gl 71 ufE-1 W P, Q, R, S,
T 3R U At FFe70r At o 7 8| U2 H J, K, L, M, N
3R O 3T f3om o Tvye §1 L T 9@ S i 3R A8 SR g
T<h ok fohll Teh SR AT JST &1 U, S o AT TR d 1 T X
3TN T T 3R TG FA TTAT ATk M T feheaq uSat 2,

*

)

ST N T TS 21 ¢ 3T foRd off SR a8 S8T 81 M 3R L
% S haTeT 31 SATE IS 2| P /T @ N hl 3R & iR I8 Uufve
o TRt Toh TR AT FBT | R 3TR T ok s Sha A Ueh AR ST

<Z @Reasoningbybasantsir



n 12 friends are sitting in 2 parallel rows containing 6 persons
each, in such a way that there is an equal distance between
the adjacent persons. In row-1 P, Q, R, S, T and U all of
them are facing south. In row-2 J, K, L, M, N and O are
facing north. L is not facing S and he is sitting at one of the
ends of the row. U is sitting third to the left of S. The person
facing T is immediate neighbour of M who is not neighbour
of N and does not sit at any end. Only two persons sit
between M and L. P is facing N and sitting at one of the ends
of the row. Only one person sits between R and T. K is an
immediate neighbour of J. S is sitting in front of K.

Who are the immediate neighbours of U?
(1P, R

(2)P,Q

3)C, A

4)0,U

(5) None of these

@Reasoningbybasantsir
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each, in such a way that there is an equal distance between
the adjacent persons. In row-1 P, Q, R, S, T and U all of
them are facing south. In row-2 J, K, L, M, N and O are
facing north. L is not facing S and he is sitting at one of the
ends of the row. U is sitting third to the left of S. The person
facing T is immediate neighbour of M who is not neighbour
of N and does not sit at any end. Only two persons sit
between M and L. P is facing N and sitting at one of the ends
of the row. Only one person sits between R and T. K is an
immediate neighbour of J. S is sitting in front of K.
In the row of persons facing south who is sitting
at the ends of the row?
(MHR,P
2)P,U
3)S,Q
4)S, T
(5) None of these

' @Reasoningbybasantsir



n 12 friends are sitting in 2 parallel rows containing 6 persons
each, in such a way that there is an equal distance between
the adjacent persons. In row-1 P, Q, R, S, T and U all of
them are facing south. In row-2 J, K, L, M, N and O are
facing north. L is not facing S and he is sitting at one of the
ends of the row. U is sitting third to the left of S. The person
facing T is immediate neighbour of M who is not neighbour
of N and does not sit at any end. Only two persons sit
between M and L. P is facing N and sitting at one of the ends
of the row. Only one person sits between R and T. K is an
immediate neighbour of J. S is sitting in front of K.

If S interchanged his position with U, similarly P with R and
T with Q then who among them is facing U?
(HM
2K
30
4)J
(5) None of these
' @Reasoningbybasantsir



H 12 friends are sitting in 2 parallel rows containing 6 persons
each, in such a way that there is an equal distance between
the adjacent persons. In row-1 P, Q, R, S, T and U all of
them are facing south. In row-2 J, K, L, M, N and O are
facing north. L is not facing S and he is sitting at one of the
ends of the row. U is sitting third to the left of S. The person
facing T is immediate neighbour of M who is not neighbour
of N and does not sit at any end. Only two persons sit
between M and L. P is facing N and sitting at one of the ends
of the row. Only one person sits between R and T. K is an
immediate neighbour of J. S is sitting in front of K.

Who is sitting second to the right of U?
(1)S

2)P

B)R

4M

(5) None of these

@Reasoningbybasantsir



H 12 friends are sitting in 2 parallel rows containing 6 persons
each, in such a way that there is an equal distance between
the adjacent persons. In row-1 P, Q, R, S, T and U all of
them are facing south. In row-2 J, K, L, M, N and O are
facing north. L is not facing S and he is sitting at one of the
ends of the row. U is sitting third to the left of S. The person
facing T is immediate neighbour of M who is not neighbour
of N and does not sit at any end. Only two persons sit
between M and L. P is facing N and sitting at one of the ends
of the row. Only one person sits between R and T. K is an
immediate neighbour of J. S is sitting in front of K.

Who among the following sits between M and K?
(1) S

2)P

3)J

4M

(5) None of these

@Reasoningbybasantsir
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How many such pairs of letters are there in the word
REPLACE, each of which has as many letters
between them as they have in the English
alphabetical series?

REPLACE 9752 H 37810 < 08 fehaq e 2, e o
Tedieh o el 3a &1 78R B Rra- 37k sfi=r st
FUTHTEAT ST | B 82

(1) One

(2) Two

(3) Three

(4) Four

(5) None of these
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